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o Edges are dependencies that ensure the correct
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e Runtime systems enforce the dependencies and
schedule the tasks on the computing resources
available.
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Recursive Tasks in StarPU

Objectives e Recursive task execution:

e Adapt task implementation at runtime. © Remain regular task.
. . o Insert a subgraph: split.
e No spurious synchronization.

@@
1. No limit for the hierarchy depth. Pt ~

2. Fine-grained dependencies.
3. Transparent data management.
o Automatic data partition.
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1. Which type of tasks needs to be split.
2. Split the right amount of tasks.

Which type of tasks needs to be split ?

Objective
min t_exec (1)
w.r.t.
Z Nfig - TimefP" < R8PY* . t_exec (2)
teT
Z NEmal . TimefP! < RPUS . t_exec 3)

teT

NEm2l oy NpE = et Vter (4)
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Results - GETRF (2xNvidia A100 + 2x32-core AMD Zen3 EPYC 7513)
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Conclusion

e Recursive tasks:

o Insert subgraph at runtime.
o More dynamic DAG.

e Splitting task dynamically brings different questions:

o Which task sould we split.
o When do we choose to split.

e Scheduling questions:

o How should we split tasks ?
e Extend current work:

o Distributed recursive tasks.
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